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g5z K % OuT | IN = GR | HDCP | NET B&

B IR FE 38 39 77 10.0 67.0

#F HH %t 37 40 77 10.0 67.0
3 FX 37 33 10 2.0 68.0
4 BE B 38 39 77 8.0 69.0
5 &I & 37 38 15 3.0 72.0
6 ERK =¥ 40 38 78 6.0 72.0
1 B EF 37 40 77 4.0 73.0
8 AT % 41 37 718 5.0 73.0
9 Fith FFEA 42 38 80 5.0 750
10 XKBE ## 40 43 8 1.0 76.0
11 A #FE 47 40 87 11.0 76.0
12 RE BE 35 43 18 1.0 71.0
13 &FE —F 4 39 8 6.0 77.0
14 Bl EX 40 45 8 8.0 71.0
15 [/ 41 46 87 10.0 77.0
16 #REA Fth 43 36 79 1.0 78.0
17 kX [t 4 39 83 5.0 78.0
18 Zig & 43 41 84 6.0 78.0
19 P RRsE 42 42 84 6.0 78.0
20 Hig R= 46 39 8 7.0 78.0
21 KB AR 45 42 87 9.0 78.0
22 Ml EA 46 43 89 11.0 78.0
23 LA 1EE 42 41 8 4.0 79.0
24 T Bz 4 45 89 10.0 79.0
25 BB fEX 40 48 88 8.0 80.0
26 ILE =HE 45 46 91 11.0 80.0
271 R Fz 43 37 80 -1.0 81.0
28 EH =& 46 44 90 8.0 82.0
29 &F HH 49 43 92 10.0 82.0
30 # = 46 47 93 6.0 87.0
31 #HHE &= o4 45 99 10.0 89.0
32 IpHk —8 51 48 99 10.0 89.0
33 Bk EX 44 57 101 11.0 1 90.0
4 B Eia 53 50 103 11.0 92.0

[HEAZEIHDCP [BEIEMIHDCPEE-HTI2 /Ny Y (IN)

18




FfE R - 5 F107408 503 H

IVR)—hyT BYSR

U= ¥ R9VARI WIHTTTH UM 3-R

g5z K % OuT | IN = GR | HDCP | NET B&
B B ET 41 49 90 25.0 65.0
8 BN ME 42 47 89 22.0 67.0
3 FH B2 4 39 83 12.0 /1.0
4 FEFH RF 43 42 8 13.0 72.0
5 WA &R 4 45 89 15.0 74.0
6 HE HE 40 50 90 15.0 75.0
7 B EH 4 45 89 13.0 76.0
8 BE M= 45 46 91 13.0 78.0
9 BEER RF 46 48 94 16.0 78.0
10 [EE =5 54 50 104 25.0 79.0
1 mF BT 47 46 93 13.0 80.0
12 EK #5 53 55 108 27.0 81.0
13 g RE 93 46 99 16.0 83.0
14 KF ®MA 51 48 99 12.0 87.0
15 Bft  fd— 95 56 111 21.0 90.0
16 {E4<K #EH 50 61 111 20.0 91.0
ME Bz 42 43 85
KB TR 41 44 8
mT k- 45 56 101
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